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PHYSICS

BOOKS - SURA PHYSICS (TAMIL)

S| 60)6V5 61T

1. LOM6TBTEUT] 6@ (THEUIT §6v1G| SlL_LMem], 120
Hz Q) 6015 8560)61 W6V 0L g

SA6HCHIHH L 4 eug| sLlemwiuld


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_aBxhMWGmZReV

LB & mest. enihg| SHeuesidHGLLngl,
Fnl_(p ealullest alFs eleMadh@ 3

(pemm  SemevaMIBIM&Gl. 4 UG
SN uileoT 1576l 6u6s0T
SLD&E630TL_61 M) |61T 6187

A.130

B. 117

C. 110

D. 120

Answer: A

| 8


https://dl.doubtnut.com/l/_aBxhMWGmZReV

2. (&MN]5H&H6DI6V 606010 A

sorl_sHaNbhHel B eI H5HHE
Cla6LEIME)|. A 261|_58,8) 6V

BNI&HHemeuW6sT HemaCeusld 500 ms !

S16m6uIHerLD 5m. B 2615 8,856V

1

glengGeusld 600 ms ~  6l60ll60 B 6V

S18)176161680T, S160I6VIREITLD (LP6m MG

A.120 Hz LDMM|LD 5 m

B. 100 Hz LOMM)|LD 5 m


https://dl.doubtnut.com/l/_aBxhMWGmZReV
https://dl.doubtnut.com/l/_7KrTC8IzgCKs

C.120 Hz LbOMM)|LD 6 M

D. 100 Hz LDOMM)|LD 6 m

Answer: A

o Watch Video Solution

3. @0 GMUUILL (HWMiL&s@G 1000 Hz
il (&60) 6L M6EBT 4 Fiilen g
S18)176) 61 68BTHETT HCLD

61&M(h&&LILL(h6lTerest. H6m6u,300 Hz, 600


https://dl.doubtnut.com/l/_7KrTC8IzgCKs
https://dl.doubtnut.com/l/_NRJ0PUt0f02s

Hz, 750 Hz WMM|LD 900 Hz €hHG 615 MLIflev
all(bULL QIH S18)176U630TSH6IT WITemI6U?

A. 100 Hz 150 Hz

B. 150 Hz 450 Hz

C. 450 Hz 700 Hz

D. 700 Hz 800 Hz

Answer: A::D

o View Text Solution



https://dl.doubtnut.com/l/_NRJ0PUt0f02s

4. 5000 Hz 948)j6leuesor 2 6oL Ul 696V
SIMlev Quwinbig) Hij LIgLiemL
SN b1, HMMHMlev
S16m6VIH6MMI 611 60T 556

A.43

B.0.23

C.53

D. 1.23

Answer: C::D

‘ ° \iawr TavE CAaliikian



https://dl.doubtnut.com/l/_Os3274CmmuAV
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5. 8 6t 650TWLIT6TT
D66V (6THS S G HIM(GLD 6 (heu6edT
Gluunsswme  &(haImnesr.  (LP&ev
aglelymelflemwt  t1s Qey|b  26u8)
aglelymedlenw tos QYD GCaLsmmesr.

LO6DY6US(6Th&Sl6tL_GUIWMesT QemL6leuer]

v(t, — ta)
2
v(t1ts)
" 2(t + t2)

A.

C. ’Utlt2


https://dl.doubtnut.com/l/_Os3274CmmuAV
https://dl.doubtnut.com/l/_thS9hTvxrDIO

5 v(ty + t5)

Answer: A::B

o View Text Solution

6. (H (P6emetT CLOQU SHMTMN)|SHGHLDOLILD
601N 83 Hz uglbleussor 2 6oL Wl
SAFlTeUMID  CILMH(EHL6T 65556
DL &IMEG| 6l66l6v HMMHM |G GHMDLIGS) 60T

hHermn?

A.15m


https://dl.doubtnut.com/l/_thS9hTvxrDIO
https://dl.doubtnut.com/l/_TXgdOwvZ1jCW

B. 0.5m

C.1.0m

D. 2.0m

Answer: A

o View Text Solution

7. x Semnguiley QuIMisls 6lamesor(h eiTer
Slem6eV  epeoTMledT QL UGlLwWnES  y

Bamanest gwestLIn®B y = (2 * 1073) sin

s

(300t - 2x + (Z))’ QG x, y LSI'_I_I'ﬂgUL'D t


https://dl.doubtnut.com/l/_TXgdOwvZ1jCW
https://dl.doubtnut.com/l/_b0lVINWQb4eo

afleormiquiley|d SHEM&HSLILILILIT6,
Sem6VLiledT GeussLD

A. 150 ms !

B.300 ms !

C.450 ms !

D. 600 ms !

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_b0lVINWQb4eo

8. Q76s01(H 6o SLOLI &6IT
CaNHeMMGLMeY Seumnlest HiqLliLiemL
315176161 650TH61T 6V 3151761 M) |8 65TM 6.
Saummlest Qe &SeT, L 15856,
hermmaisel, el Lighelledl 556156
(Pemmbwl 8:1,1: 2, x:y LDMMILD 4:1 155
G(hHWlest ugljbleuessr 360 Hz 6(H
elleotmiquiley  gMU(HD  eilbLOeV&H6ET 10

6160116V, X : y 60T DG LIL

A. 1.5243055555556

B.1.4833333333333


https://dl.doubtnut.com/l/_50hkKZfvoF0o

C. 0.042361111111111

D. 0.043055555555556

Answer: A::B::C::D

o View Text Solution

9. F&HSHETIILUMMIET 618 SIEDEVEDWS

GN&SIMG|?

A (z — ot)’

B. x(x + vt)


https://dl.doubtnut.com/l/_50hkKZfvoF0o
https://dl.doubtnut.com/l/_bYtBeQ6txlg9

1
C.
xr + vt

D. sin(x + vt)

Answer:

o View Text Solution

10. 26M(Ehg6V 6260TMIEV 2 61T6IT  LD6B11G)60T,
26M(EHF6V 61&MHI(GHGHHISH G168 (HHE
60° Q(HLEUTE @@  allfleney
6T(LOLILISIMITEDT. G601 2151761616501 20 kHz.

261 (6h &6V 60T ThH160Y6V LI T6ETT


https://dl.doubtnut.com/l/_bYtBeQ6txlg9
https://dl.doubtnut.com/l/_DmnBc2i8JTqG

Ligonestgaledl(hhgl ealldlev  2m  6v
2 6IT61TG)|. 2611 (6H & 6 60T (LpetTG6DT
EUSSLILILL. &(hH 66dle6ooll] &S(HA
QhHG eellenwl 2. 6v0I&SIMG|. 626512 65011
S(Hedl 2ewoi((hdb  eedluiledt  6lLI(HLD
315 176)616T0T.

A.2.027 kHz

B. 1.974 kHz

C.9.74 kHz

D. 1.011 kHz

Answer: B


https://dl.doubtnut.com/l/_DmnBc2i8JTqG

° View Text Solution

. ChHI&HEM x Slemsulleyv blaevey|Ld
1

SiemevuNesT ai&a t =0s 6V y = 616015
1+ 2
: . 1
t = 2s SIG60T QIGT y = S e16eT
1+ (xz —2)
SHEMLDSBIMEG|. SiemevuileoT QULq6ULD
Lommeilevem6v6] WL 6oTlev SlevreuUilest
PenrFGeUSHLD
A.05ms *

B.1.0 ms_1


https://dl.doubtnut.com/l/_DmnBc2i8JTqG
https://dl.doubtnut.com/l/_ktcdA8yvaPlB

C.1.5 ms_1

D.2.0 ms_1

Answer: A

o View Text Solution

12. ShII&60T (HLOMUIGET A, Bullew A &(h
(LpemeoTuiley CLPLLILILL &I 2G| (LPGHY
giflemrauilev S TeYmE
ClewwILI(h&IM&]. (HLOML B @ (HLM(LPLD

FmmhgleTengl. Qg 3 eugl-Ffenguilev


https://dl.doubtnut.com/l/_ktcdA8yvaPlB
https://dl.doubtnut.com/l/_Xv3gUf6Poco2

A TeUMM| A 2L 60T ®R([H QeNFHHEM6
CLOGULD 6566 SHeDLSIMEG]|. A LDMM)|LD

B (&Lomuilett 1hermril &erfl 65T 5561

@ >
w|l—= o= oo|w w|oo

N

o

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_Xv3gUf6Poco2
https://dl.doubtnut.com/l/_bdw2iR8g1pe3

13. smmhHlev 668 SHemevuilest GeusLld

A. GleulILImlemI6v 6l LIM(TH &8 86U6V
B. 91(L0 55 |L_60T A\ &I1&(GHLD
C. 2. Wiy UG5 G| 66T SIB) & &G LD

D. 2 Wiy FJLULIGSHG|L 60T (§6Dr)MU|LD

Answer:

o View Text Solution



https://dl.doubtnut.com/l/_bdw2iR8g1pe3

14. 2615 8,8) 66T GleuLILImh6m6v
LOMM|LDGLIME | LD |61 G|

A. 6260 S160)6VSH61TI65T D15 6] 616T0T

B. 26 91631605611 60T &5

C. 268 SH6M6LG6IT 65T SH6mIGUIHEITLD

D. 6960 SHemevuilesT o LI

Answer:

o View Text Solution



https://dl.doubtnut.com/l/_ZHJyII3Lvxhs
https://dl.doubtnut.com/l/_DlrvQxro3TrX

15. GIHL L 6DI6US6IT 26T &5 86T UL GUl
(P etTGeOTMIE blg6VeY |LDELIMG)|

HLSFLILI(H6UG]
A. 61LIM(MH 6T
B. ShMmmev
C. 6lLIMBHET LMHM|LD SHMHMEY

D. 2 hgLD , ShMM6V , 61LIM(TH 6T

Answer:

o View Text Solution



https://dl.doubtnut.com/l/_DlrvQxro3TrX
https://dl.doubtnut.com/l/_UKnO6cJUB0c0

16. SiemeuReMd A 6lomesoil 66\
SEMEVEET 6 ([h 26TL_&&& 60T 6uULPICW v m/s
CeUS:E G |L 60T [h6tIDWILD CLIMG| CeusLd 2 v
m/s SH&HIMG|. QIEBUILMD 26Tl 5556V
626V 216016086111 65T 16m6uIhH6MLD

A )

. A
2
C. 2\

D. 4\

Answer: A::B::D



https://dl.doubtnut.com/l/_UKnO6cJUB0c0

\ o View Text Solution

17. amhdy ULEG Hiflev 2 68T ME(GLD
SU6DI6VGHEIT

A. (5N15HZH6D16V.

B. GIHL_L6m6V

C. H6DI6VLITEDT SH6DIGVE6TT

D. 6llhL_L6m6v LOMMLD (&M)|&5H8H6m6V

Answer:

l o View Text Solution


https://dl.doubtnut.com/l/_UKnO6cJUB0c0
https://dl.doubtnut.com/l/_LfXAGo6yDFdd

18. @(H FLOGET (LP6dTCeoTm)| SHEBIGUSHET

(P eoTCEoTMIE 6lF6VEeY LD GLIMTG)|

A. 6T6U6VIT &)|5618611 65T Q& 87D &LOLD

B. 26Tl 85,8601 §I5H6TH6T FeohFfens

QW88 608 GLOM6SM6T(ETHLD
C. SiemevWiledT FenFGaUsHLD
261|588 60T &60T60)LD6D LI

ClLINM(H 55


https://dl.doubtnut.com/l/_LfXAGo6yDFdd
https://dl.doubtnut.com/l/_kjYu0MoHMRt7

D. GLDM&H6TTTL S160)6018)8)|LD

Answer:

o View Text Solution

19. Lil66T6) (H6) 60T6U MM)l6V 6 (Ih
H163YEUITETT SH60IEVEH(SHLD 6l LIM(THHEG LD ?
A golgnhH HHengalen (HMISHEHWLD

olNggs  SbMHMEV  UMLAHMLD

Q6vemey


https://dl.doubtnut.com/l/_kjYu0MoHMRt7
https://dl.doubtnut.com/l/_rbxNUm0c2JEb

B. 6T6VEUIE, & |&HETEH(ETHLD HG 6T SIJMEF ]
mlemeuuilev 0Iy CrhT& 56V
&L_&5 55 60TM6TT.

C. ep6ubleu(h 51561 6y|LD
eflemau, L LLILL L 6788 2 67T6rg)|.

D. GLDM&6TTTL S160)6018)8)|LD

Answer:

o View Text Solution



https://dl.doubtnut.com/l/_rbxNUm0c2JEb

20. 6leuLiLIThlémey 2 W(hLD CUIMG| Qengd
5606 W 65T 915 76] 61650
A. 2 W(HLD
B. (5600 MWILD
C. &MH&| & W(HLb SH6V6VG) |
SMpeU6ED L WLD

D. LOMMMTG G|

Answer:

o View Text Solution



https://dl.doubtnut.com/l/_461FNolHKsoo

21. LML A Qresoi(h  (PEm6sISH(EHLD
SMhg| 2 6T66sT. (SHLOMUI B &(hH (LPemI6DT
L (LD CLOLQUI6ITETTG) . Qeso1(h LD
5HGEM6V 6T6v1l6V  (HLOMUIG6T A, B 60T
SilqLILI6DL 91517661 650T65011 66T

6185 &M &6iT
A. 0.043055555555556
B.0.044444444444444

C.0.084027777777778

D. 0.16736111111111


https://dl.doubtnut.com/l/_461FNolHKsoo
https://dl.doubtnut.com/l/_rP6AIG39QqQP

Answer: B::D

o View Text Solution

22. spelluiledT Geusbld Sh&HFIgesilev (O,)
®(H GlauliLmensuuilev 460 ms . <165
GleuLiL Hlemeuuileu a6l W &85 6v
6o 6V W6tT GousLD

A.460 ms !

B.500 ms !

C.650 ms !


https://dl.doubtnut.com/l/_rP6AIG39QqQP
https://dl.doubtnut.com/l/_dxFwsJmeR1Dl

D. 1420 ms !

Answer: A::B::D

° View Text Solution

23. Qb ellemmLILIMTEDT §|60)650186ITT6V
WSS LLULLL  sSbLNufest Herb
40 cm. SiFlev 2 (HheUMGL 6lL(IHLD

HEM(LP 6TT6IT M) 63I6VULITETT SH6DI6V

A. 120


https://dl.doubtnut.com/l/_dxFwsJmeR1Dl
https://dl.doubtnut.com/l/_I4bZcHieMmDG

B. 80

C.40

D. 120

Answer:

o View Text Solution

24.
y1 = 4sin(wt + tz),yo = — 4cos(wt + kz)

SLL Geumun(y


https://dl.doubtnut.com/l/_I4bZcHieMmDG
https://dl.doubtnut.com/l/_3VLZsCIhUsOE

D. &0

Answer: B::C

o View Text Solution

25. ®(H Slemevd gweotwWm(h y = 0.01 sin

(1007t — kz) Siemev lemgGeusld 100 m/s.

315,601 61650160011 H6D) 5.


https://dl.doubtnut.com/l/_3VLZsCIhUsOE
https://dl.doubtnut.com/l/_E1YR42QfTYzo

A. Tm”(-1)

B.2m

C.m™n

D.2m™m

Answer: A

o View Text Solution

26. ®(IH SHIH6T (Hlomuiesr [Hembd /
SiglUenL&semallen  SHAglTalmSlma|.

(W55 Geum|LIM(H 6186V 6lLI(HLOLD


https://dl.doubtnut.com/l/_E1YR42QfTYzo
https://dl.doubtnut.com/l/_s2kDl2OViBRP

A QB (PeneoTeriley (LD

B. 2 61TG6IT (Lp6m6v1&H6ril6tT 615 memevey
6V

C. 2 6MGeIT (Lp6m60T&H611l 65T
61§ Memevailey

[
D. 2_61TG6IT (Lp 60)601 & 61Tl 65T 5

Answer: B

2

o View Text Solution



https://dl.doubtnut.com/l/_s2kDl2OViBRP

27. &®@H geoll Filemd AHemeuulledt
. T
geotlM(y y = 5 sin 3 (100t - x) x, Y-
L Lfey|d , Gy - 6lgsesor(Bserflay|Ld
2 &Terg|.  SiemeuulledT &6V  Si6reY
6133 6001(H &H6iT
A. 0.04
B. 0.01

C.1

D.5

Answer: D


https://dl.doubtnut.com/l/_RnngZEmiTFBF

° View Text Solution

28. 91606V ¥ = A cos (wt + kx) x AHN&Hev
QUnBIGLOMESTTEY 31606V SH6sM(h Serfl 6ot
6UlqeULlD t =0 LDMM)|LD t=2s6V

A. 6leuclGeumna Q(H&H(GLD

B. #LOLOMS Q(H&H(GLD

C. ZLOLDME Q6V6VITLDEY (LD Q) (MH&HS6EVMLD

D. 6] 5| L016V66V

Answer:


https://dl.doubtnut.com/l/_RnngZEmiTFBF
https://dl.doubtnut.com/l/_hFFEFFVoDp9c

° View Text Solution

29. eflevordesNle(Hh&| eu(bHD eeflullest

S16DI6V HeM& &) 6v 2_6BBTL_M(G LD
LIl 65T60TLD M) MLD 0.014% 315,607
P61 FGeUSHLD

A.42*10° m/s

B.3.8*10° m/s

C.3.5*10% m/s

D.4.2*10* m/s


https://dl.doubtnut.com/l/_hFFEFFVoDp9c
https://dl.doubtnut.com/l/_PP5t6fyymJgm

Answer: A::B::D

o View Text Solution

30. @(H 2HJ&60T (SLLMUIIEHT S MH S (LP w60t
(PSS  GCLM&THSEL HGlTeUenLFIMG].
85 QO (PeverTwd FMhg Helmm(H
(SHLOMU L6067 625535 Jallev 2 _&lTerg,|.
epesTmD  Fiilemauiley  Sigreumisms|

B (BLomiise et hengglest all&lgLD

A. 0.043055555555556


https://dl.doubtnut.com/l/_PP5t6fyymJgm
https://dl.doubtnut.com/l/_oZX7eh1ySkFw

B. 0.16736111111111

C. 0.33541666666667

D. 013055555555556

Answer: C::D

o View Text Solution

31. ®(H EM&J6vil6dT QUL Lq6V 60 &|6D)6ME6M
61&Mesor(h. &(hH MemeVWMesT GoeusHEEe6v

360 rpm &rlpeVSledTMG|. 2 LOIPLILIL L


https://dl.doubtnut.com/l/_oZX7eh1ySkFw
https://dl.doubtnut.com/l/_R0Z2kb4yNxN2

@6ellLMenTg| QenFHHEMEUWILET  6IHG
2181761 61630T600116V 62855 MH Q (IH&H(GLD

A. 10 Hz

B. 360Hz

C. 216Hz

D. 60Hz

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_R0Z2kb4yNxN2

32. @(bH e6llemwll 6lLmiLIeUfTev 20dB
Slenedim(g 606V

LLGUUGEHSUUBSIMSE] 6165116V
clgmlailev efMU(HLD &MLpelest &yeso]

A. 100

B. 1000

C. 10000

D.10

Answer: A

‘ ° \iawar TavE CAaliikian



https://dl.doubtnut.com/l/_uKrlrsZt1WAk

VIGYY 1GAL INAGINI R ] J

33. e(Ih SHemevWiledT QL LI6ILIWTEFS yedT x
AUFF 6V SHLHG] 6] &6V61 &) M) & 60T
s106mLING y = 10~ sin(600 — 2z + %) X
LS L fleyLd t 6lg&mhH (B S6Mey|Lb
GM&SSHULUMBSMG|. SiemevuilldH s ) 6ot

GeusLD

A.300 ms !
B. 600 ms !

C.1200 ms !


https://dl.doubtnut.com/l/_uKrlrsZt1WAk
https://dl.doubtnut.com/l/_h087o5q8TSGK

D.200 ms !

Answer: A::C

° View Text Solution

34. x 9F8letT euPICW blFeveY|D (I
SI6MVSHSMeoT FloeotUM(h  y(x, t) = 0.005
cos(ax — Bt). A = 0.008 LOMHMID t = 2.03
6160116V

U

A a = 12501 8 = 50


https://dl.doubtnut.com/l/_h087o5q8TSGK
https://dl.doubtnut.com/l/_SqonHrNiFOTz

B.a =25.00r 8 =7

0.08 2.0
Ca=——pF8=—
T v
0.0 4.
pa= 2% 20
TT T
Answer: A::B

o View Text Solution

35. &b ellenglLL (5

bleaIgaLLBLL  Cumg)

H60)6VEH6IT

565016001 116V

2_600TL_M(&LD


https://dl.doubtnut.com/l/_SqonHrNiFOTz
https://dl.doubtnut.com/l/_n1VUsNQSTLiT

A (5N15HSH6D6V
B. 6IIHL_L_6DI6V
C. Hlem6vy

D. (5 M)I556m6V LDMM|LD 6IMHL_L 6016V

Answer:

o View Text Solution

36. &MMMlev 626Vl SietreuuiledT GeusLD .

A. GleullILIHlemevem WL 6lLIM(TH &8 8)6V6V


https://dl.doubtnut.com/l/_n1VUsNQSTLiT
https://dl.doubtnut.com/l/_YDxI6O0jFFDi

B. 91(L0 5558|651 H &I]1&(GLD

C.RJUUGD S &HfHGL  Cumg)
AU &H&(GLD

D.mJUUGLD  SHF&feHE@GL  Gumg)

(BEMWILD

Answer:

° View Text Solution



https://dl.doubtnut.com/l/_YDxI6O0jFFDi

37. GleuLILImhlemev 2 W(HLLCLIMG)]
B et F&H&H606UWIN 60T S18) 176l 6)6T0T

A. 218)51§1&(GLD

B. (5600 MWILD

C. 2 W(hHLD SH6V6VG)| (§6DMUILD

D. LOMMTG|

Answer:

o View Text Solution



https://dl.doubtnut.com/l/_xh0l48JVC0Bq
https://dl.doubtnut.com/l/_uQCiuSwuqAJk

38. 26L& &5 661 GleuLllLImlem6y

LOMM|LDGLIME]

A. 6960 S160)6VH6ITI65T D15 76 616B0T
B. 26 91601605611 60T IG5
C. 260 SH6m6VG6IT 68T SH6mIGUIHEITLD

D. 6p68] S16016V&61T60T 2 [JLIL

Answer:

o View Text Solution



https://dl.doubtnut.com/l/_uQCiuSwuqAJk

39.

y1 = 4sin(wt + kx)y, = — 4cos(wt + kx)

eT60il6v L Geum|Lim(h?

D. &P

Answer: B::C

o View Text Solution



https://dl.doubtnut.com/l/_TBWtccJD9ZIv

40. 6p60] AHEMEVGEH6IT 6 ([H 28TL_&:EF6V v m/s
CeusmGHG L6061  LIW6osi&hsletTment. QG|
LMHEIMMTH 281 _&5GE6V 2v m/s Geusdh g g)ev
hHIEOLBIETME|  6T6vlley  QT6ToTLMEUG |

265586V 6265 H6DIGUEH6TT H6DIGUIHEITLD

A A
g 2
"3

C.2)

D. 4\

Answer: A::B::D


https://dl.doubtnut.com/l/_D7kE97ITT7uy

o View Text Solution

41. 6 (hH 2615 8,8) 66T 6uLPIGW
CIHLL60I6VS6ET  (P6edTGeoTNIE  61F6VEY|LD
CUINMG | SHLGHGHLILILSHInLqU 66

A. LI(MHLIGILIM(TH6IT

B. 9hMMey

C. L LI6ILMHET bMHM|LD ShMHmev

D. 2 1h&LD

Answer:


https://dl.doubtnut.com/l/_D7kE97ITT7uy
https://dl.doubtnut.com/l/_RZILTSpumjSj

° View Text Solution

42. epellulletT SlemsGausgengalll S5 s
Ceusgglev QWImi(GLD 6ILIM(H6T 61F6VeY|LD
GeusLD

A. GaevtTenI6V GRUBLD (Super sonic speed)

B. &letn&Geus LD

C. e18)6l7meV)

D. Si6m6v lenrFoeausLd

Answer: C::D


https://dl.doubtnut.com/l/_RZILTSpumjSj
https://dl.doubtnut.com/l/_PF8qDgdzBJWm
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B. S16m6v HerLD
C. GamevoT SletrFGeUs LD

D. SiemeuuilesT He6rLD

Answer:

o View Text Solution



https://dl.doubtnut.com/l/_LxRGBePOoAX5
https://dl.doubtnut.com/l/_dA27l3e0OXJk

53. Si6Mm6V LIJeU 261l _&lD  ©860)6UUIMT60T

H60)6VEH6IT

A. Quirhgljailuley S16V6VME) SHEDIEVSH6IT
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